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ECONOMICS

( Honours Core )
Paper : ECO-HC-4026

( Intermediate Macroeconomics—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

o 2PTRA Ted
fa) What is fixed investment?

&g et 62

(b) What is government debt?

54Ial 4 62
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(2) | (3)

(c) What is effective demand? I () Name one new-classical economist.
e oz & 2 ' & G-I wAfeRE I o4 |
(d) What is consumption function? () Mention one limitation of Solow model.
AN, 5o S o1 S eead 91 |
] ions : 2x5=10
(e} Who provided the Rational Expectation 2. Answer the following questi
hypothesis? o PEPTRd T8% faa -
FeRIS  dOPT  FqEEE ARG I (@) What is meant by liquidity trap?
S5RGIRMRE ?
e T 3fece 6 e ?
(/ What is neutral technical progress? | (b) Mention two limitations of classical
e enfers S 5 2 theory.
e o 101 AT S T

(g) “Central bank of a country formulates
monetary policy.” Is it true or false? (c)

“gg (PR (I QAT A TS a9da
FE 7 G 9] (F =7 7

Define golden rule of Solow model.

s’a’mﬁamﬁﬁ’rﬁﬂ'ﬂmﬁm

(d) What is Ricardian equivalence?

B el 2

(h) Who propounded endogenous growth

model?
D ie RPMIT OGO (e BBlae Faf%e () Mention two elements of endogenous
" 5 ! growth.
e R 701 T TEy T4
o iy ( Continued ) o e

S el T



(4) (S)

3. Answer any four from the following () Discuss vario'us determinants  of
questions : 5x4=20 business fixed investment.

e PPIRA /[ R e vifkeR Tew fian Tl B RivaeR MR seEmnar 74 |

fa) Explain the basic features of new-
classical school of macroeconomic

ERetghs 4. Answer the following questions : 10x4=40
RN SLAfes SRaRR iR (et o+
CNfere RBP4 31 | oo PR G Tl
(b) Explain the objectives of monetary (a) Critically discuss Hhie=Solow model of
policy. economic growth.
(T o7 aFErTR mm <1 | seq St [RePE SR SICE
SEICS S 41 |
(c) Explain the budget constraints of the Or/ F[1
government.
DRI B LR 701 3447 | Discuss the instability of growth process
OF Harrod-Domar models.
(d) Explain various motives of demand for r5-G'qR IR g e affér seemse
money as indicated by Keynes. b
41
(T TE 1 @R O SfemEs e
FqI
iticall discuss  the life-cycle
(e) Explain the dissimilarities between (2) ‘citee Y of consumption function.
Harrod and Domar growth models. hypothesis o STETSAl TR
T U TAR R T e PR ot FHR RO
- RO e P9
Tum Over
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(6)

Or / 941

Critically discuss Fisher’s theory of
optimal intertemporal choice.

HERT I TP A6 OGOl ST
SEEICE A 41 |

What is meant by random walk of
consumption expenditure? Discuss
various factors determining con-
sumption function. 3+7=10

e cers T SIS i & 3 2 o IR
e <1 RS ToMEER Sl 40 |

Or / B%4T1

Discuss the main features of Keynesian
economics. 10

RTPR  WEIM  wWHeF  SRERE o
GIFBIRR S 40 |

What are the main targets of monetary
policy? Discuss the rule versus
discretion of monetary policy of a
country. 4+6=10
(s MM @ ey & B2 9@ o
Mfus Tfer fag om 2=E [ s
F911

( Continued )
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(7)

Or/ 941

Discuss the relationship between
technological progress and elements of

endogenous growth. : 10
afere S  wre  wEEe R
BRI Ted e Sl 1 |
* K *
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